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SARDAR PATEL UNIVERSITY 

MA (Economics) (II Sem.) Examination 

Monday, 23
rd

 April, 2012  

11 a.m. to 2 p.m. 

PA02EECO01 - Theory of Agriculture Economics 
 
Note : (1) Attempt all questions. 
  (2) Maximum Marks : 70 
 

Q.1 Fill in the blanks with appropriate option.  Write answers in answer 
 book.   
 1. The minimum support price of agricultural products is declared 
 on _____________ time / period. 
 (Before harvesting,   Harvesting,  After harvesting ) 

(10) 

 2. An institution FCI - which is working in agricultural sector, this 
 institution - FCI's full form is  __________ . 
 (Fertilizer Corporation of India,  Food Corporation of India,   
 Farm Commission of India) 

 

 3. According to new National Agricultural Policy ___________ is 
 the target of annual growth rate of Agricultural Sector.  
 (4%,  3%,  5%) 

 

 4. Green Revolution began in the  year   ____________ in India. 
 (1960,  1966,  2001) 

 

 5. Proportion of  ________ sector in GDP is reducing after 
 independence in India. 
 (Industrial,  Agriculture,  Tertiary) 

 

 6. ________ is the most effective component for increasing price 
 of food. 
 (Availability of food,  Distribution,  Climate Change,  All) 

 

 7. National Bank for Agriculture and Rural Development 
 (NABARD) was set up by the Government on 12 July  _____ .   
 (1945,  1982,  1995) 

 

 8. ________ millions hectares is the  geographical area of India.  
 (577.89,  328.73,  54.86) 

 

 9. ___________ plays vital role to control the prices of food grains 
 and inflation.  
 (Support prices,  Buffer Stock,  Bank Credit) 

 

 10. Total Production   
 Total Land Area 

=   _________________ . 
 

  (Agricultural Production,  Agricultural Productivity,    
 Agricultural out put) 

 

  
 

 

Q.2 What does product - product relationship indicate ?  Indicate their 
types.  How would you determine the best combination of product - 
product relationship ? 

(15) 

 OR  
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Q.2 What is factor - product relationship ?  Indicate briefly its types.  
How would you determine the best use of a scarce input in 
agriculture ? 

(15) 

  
 

 

Q.3 Differentiate risk and uncertainty.  What are the types of 
uncertainties ?  How they can be removed ? 

(15) 

 OR  

Q.3 Discuss the terms of agricultural product price and give the causes 
for it. 

(15) 

 
 

  

Q.4 What is buffer stock ?  Discuss the important points to be 
considered when adopting  the buffer stock policy. 

(15) 

 OR  

Q.4 What is the role of Gujarat State in distribution of inputs in 
agricultural sector in the State Government ? 

(15) 

   

Q.5 Write short note.  (Any Two) : (15) 

 1. Expansion Path  
 2. Types of price unstability  
 3. Joint product  
 4. Production Possibility Curve  

 

NyS>fpsu sfS|>dp¡ 
 

_p¢^ : (1) b^p„ âñp¡ gMp¡. 
  (f) dlÑd NyZ : 70 

 

â.1 ep¡Áe rhL$ë` hX¡$ Mpgu S>Áep `|fp¡ S>hpb DÑfhludp„ gMp¡. (10) 
 (1) L©$rj `¡v$pip¡_p„ V¡$L$p_p„ cphp¡_u Ål¡fpsp¡  ______  kde¡ L$fhu Å¡BA¡. 

 (hphZu `l¡gp_p„,  hphZu_p„,  hphZu `R>u_p„)  
 

 (f) cpfsdp„ L©$rjn¡Ó¡ õ\p`hpdp„ Aph¡g FCI _pd_u k„õ\p_y„ `|ê$ _pd  ____ 
R>¡.  
 (Fertilizer Corporation of India,  Food Corporation of India,   
 Farm Commission of India) 

 

 (3) _hu fpô²$ue L©$rj_ursdp„ L©$rjn¡Ó¡ hprj®L$ _______ V$L$p\u h^y rhL$pkv$f 
 lp„kg L$fhp_p¡ Ýe¡e fpMhpdp„ Apìep¡ R>¡.  
 (4 V$L$p,  3 V$L$p,  ` V$L$p) 

 

 (4) cpfsue L©$rjn¡Ódp„ "lqfepmu ¾$p„rs'_u iê$Aps _______  hj®\u \B.  
 (1960,  1966,  f001$) 

 

 (`) õhps„Ôe bpv v$¡i_u Ly$g fpô²$ue AphL$dp„ $____  n¡Ó_p¡ apmp¡ OV$u flep¡ 
R>¡.  
 (DÛp¡N, L©$rj,  k¡hp) 
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 (6) A_pS>_p cph h^pfp dpV¡$ dy¿e AkfL$pfL$ `qfbm _________  R>¡. 
 (A_pS>_u dp„N,  hl¢QZu,  hpsphfZdp„ bv$gph,  Ap b^p„ S>) 

 

 (7) fpô²$ue L©$rj A_¡ N°pduZ rhL$pk b¡ÞL$ (_pbpX®)A¡ L$pdNufu 1f S|>gpB$  
 _________ \u iê$ L$f¡gu R>¡. 
 (194`,  198f,  199`) 

 

 (8) cpfs_p¡ cp¥Np¡rgL$ rhõspf _________  dugue_ l¡L$V$f_p¡ R>¡. 
 (`77.89,  3f8.73,  `4.86) 

 

 (9) A_pS>_p„ cphp¡_u [õ\fsp Åmhhp s\p aºNphp¡ A„Ly$ris fpMhpdp„ _____ 
 dlÐh_p¡ cpN cS>hu iL¡$ s¡d R>¡. 
 (V¡$L$p_p cphp¡,  baf õV$p¡L$,  b¢L$ \p`Zp¡) 

 

 (10
) 

Ly$g DÐ`pv$_           
Lyg S>du__p¡ rhõspf 

=  _________ 
 

 (M¡su_y„ DÐ`pv$_,  M¡su_u DÐ`pv$L$sp,  M¡su_u Ly$g D`S>)  
 
 

  

â.f  DÐ`Þ_ - DÐ`Þ_ k„b„^ iy„ v$ip®h¡ R>¡ ?  s¡_p âL$pf v$ip®hp¡.  DÐ`Þ_ - DÐ`Þ_ 
k„b„^_y„ DÑd k„ep¡S>_ sd¡ L¡$hu fus¡ _½$u L$fip¡ ? 

(1`) 

 A\hp  
â.f  kp^_ - DÐ`Þ_ k„b„^ iy„ R>¡ ?  V|„$L$dp„ s¡_p âL$pf v$ip®hp¡.  M¡sudp„ AR>shpmp 

kp^__p¡ DÑd D`ep¡N sd¡ L¡$hu fus¡ _½$u L$fip¡ ? 
(1`) 

 
 

 
 

 

â.3  Å¡Md A_¡ Ar_ròssp hÃQ¡ saphs v$ip®hp¡.  Ar_ròssp_p âL$pfp¡ L$ep R>¡ ?   
s¡ L¡$hu fus¡ v|$f L$fu iL$pe ?  

(1`) 

 A\hp  
â.3  L©$rj `¡v$pi_p„ cphp¡_y„ hgZ kdÅhu s¡_p„ L$pfZp¡ S>Zphp¡. (1`) 

 
 

  

â.4  baf õV$p¡L$ A¡V$g¡ iy„ ?  baf õV$p¡L$_u _urs A`_phsu hMs¡ L$ep dyØpAp¡ dlÐh_p 
R>¡ ?  s¡_u QQp® L$fp¡. 

(1`) 

 A\hp  
â.4  NyS>fps fpÄedp„ M¡su n¡Ó¡ B_`yV$k (kp^_p¡) dmu fl¡ s¡ dpV¡$ fpS>e kfL$pf iy„ 

cpN cS>h¡ R>¡ ? 
(1`) 

 
 

  

â.`  V|„$L$_p¢^ gMp¡.  (L$p¡B`Z b¡) (1`) 
 (1) L$v$ rhL$pk  

 (f) cphp¡_u A[õ\fsp_p„ âL$pfp¡  
 (3) k„eyL$s `¡v$pi  
 (4) DÐ`pv$_ iL$esp h¾$  
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